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Candidates are required to give their answers in their
own words as far as practicable.

1.  Answer any five questions: 1x5=5

- Ao era Tex wie ¢

a) Define critical temperature.
TS OIS el 7l |

b) What do you mean by surface tension of a
liquid?
ST 7[O5 A0S [ @RI ?

c¢) Calculate Miller indices if Weiss indices of a

crystal plane is (2:1: ).

GF (FEPTOCET Weiss 36F (2:1:00) B( ©IF

TSR 5 e 51 |
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d) Give one example of a pseudo unimolecular
reaction.
@b =1 G el e Suigsel wie |

e)  Which one between NF, and BF, is polar and
why?
NF, 4<% BF -9 510 (I & G (el 2

f)  Predict the bond order in O, molecule.
0,34 O—O eI {20 A ?

g)  Give name and formula of a per acid of sulphur.
AT G0 2M1 SRS AN G FALFS (7 |

h)  Why cyanogen is called a pseudo halogen?
ARNCICENCE (Fe] =W IS TeTl 23 2

2. Answer any one question: 5x1=5

@@ 96 AT Ted wie ¢

a)
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What is Boyle temperature? What are the
causes of deviations of real gases from ideal
behaviour? What is the effect of temperature
on the viscosity of a liquid and a gas?
1+2+2=5

AT Grwe! [ 2 A oAGTE S e 23ce Rpfed
FRefE G2 93 v7a 9 9 e Ao
ToIF Sioiwiaie gei fF 2
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b)  Draw the simplified MO energy level diagram
of N,. Discuss on its bond order and magnetic
property. 3+2=5
N,-43 gelge MO #fews e i | N,-a7
THAGN GR (BTFP 4 AHCH @12 |

c) Discuss about the group trends in electronic
configuration, common oxidation states,
hydrides and halides of the following group

of elements:
N-P-As—-Sb-Bi 5

N-P-As—Sb-Bi @2 sFot Gaaferd 36
T, MY Sawd, 23GIBT g FEize
NPT QAT A 4 |

3.  Answer any one question: 10x1=10
R-(PI @FT6 drss Ted wie ¢
a) 1)  Whya gas has two types of specific heat?
3B ST 0 SIS Oisf A (& 2
11)  Show that for an ideal gas C, -C,, =R..
@mre @ @ ome e CFg
C,-C, =R

iii)) What do you mean by r.m.s. velocity?
Calculate the r.m.s. velocity of H,

molecule at 27°C.
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b)
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iii)

PR ST 5fe 5@ oifocael q@rs &
@™? 27°C SR 2RgIee o9 1Y
5T siferas] el o1 |

Give two examples of the application of
surface tension in our daily life.
2+3+3+2=10

eIt GG FRBIEE e 1o Swizae
7S |

Derive the expression for the specific
reaction rate of a second order reaction
where the reactants have same

concentration.

a0 e @ R[fFms sforas TifFe
TRwaft Wfw 33 @uE [RiTasafas
2ALfSF SI0g 7 |

How is it possible to differentiate a first
order reaction from a second order

reaction? Explain.

95 [fea ade Tt faws (8 ©f e
Tz 0

Construct the necessary Born-Haber

cycle for the formation of KCI.

K C1 515+ 571 9~ (2314 DG <0+ 41 |
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iii)

Write short note on hydrogen bonding.
3+2+3+2=10

RCGICE Tl AT 01! F12 |

Draw the shape and structure of NF, from
VSEPR theory.

VSEPR wg SR NF, 9o SIiF® 4<% 90w
=9 |

Why CO, is gas whereas SiO, is solid
though they exist in the same group of
the periodic table?

@ CO, 1P e Si0, T, Afwe C 9=k
Si »{fEIEAR R 2B0o SRS ?

SnCl2 1s solid whereas SnCl . 1s a volatile

liquid— explain.

SnCl, o7 »mi<f &% SnCl, 4% T=I
O — IR <+ |

State the hybridization of C in CO?™ ion

and S in SO2 molecule.

CO;™ IR C @3 SO, TS S- 97 FRFAR
Tar 9 |
Explain by MO diagram why He,
molecule does not exist.
2+2+2+2+2=10
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